## AUGUSTA ENGINEERING DEPARTMENT MCNUTT RD IMPROVEMENTS 2023

### **SECTION 3: BID PROPOSAL**

Date: _ 9/6/2024						
Gentlemen:						
In compliance with your invitation for bids dated $\underline{July\ 18}$ , 2024, the undersigned proposed to furnish all labor, equipment, and materials, and to perform all work for the install roadway improvements, and appurtenances referred to herein as:						
AUGUSTA ENGINEERING DEPARTMENT						
MCNUTT RD IMPROVEMENTS PROJECT In strict accordance with the Contract Documents and in consideration of the amounts shown Bid Schedule attached hereto and totaling:	on the					
Five Million One Hundred Fifty-Two Thousand Nine Hundred Eighty-Eight Dollars and 90/100 Cents D	OLLARS					
<b>(\$</b> 5,152,988.90 <b>)</b>						
The undersigned hereby agrees that, upon written acceptance of this bid, he will within 10 receipt of such notice execute a formal contract agreement with the OWNER, and that he will the bond or guarantees required by the Contract Documents.  The undersigned hereby agrees that, if awarded the contract, he will commence the work we calendar days after the date of written notice to proceed, and that he will complete all work with the solution of the contract.	provide					
The undersigned acknowledges receipt of the following addenda:						
Addendum Number: Addendum Date:						
1 8/23/2024						
2 8/28/2024						
Respectfully submitted:						
Reeves Construction Company (Name of the Firm)						
1 APAC Industrial Way Augusta, GA 309 (Business Address)	907					

Title: Region Manager/Assistant Secretary

# AUGUSTA ENGINEERING DEPARTMENT MCNUTT RD IMPROVEMENTS 2023

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	PRICE
	RC	DAD ITEN	ИS		
001-1000	FORCE ACCOUNT	LS	1	\$300,000	\$300,000
150-1000	TRAFFIC CONTROL	LS	1	\$115,400.00	\$115,400.00
210-0100	GRADING COMPLETE	LS	1	\$1,770,000.00	\$1,770,000.00
	ASPHALT PAVI	NG (INC	L DRIVEWAY		
310-1101	GR AGGR BASE CRS, INCL MATL (6")	TN	12326	\$50.00	\$616,300.00
402-3190	RECYCLED ASPH CONC 19 MM SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H LIME (2")	TN	3496	\$110.00	\$384,560.00
402-3100	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, GP 2, INCL BITUM MATL & H LIME (1.5")	TN	2932	\$130.00	\$381,160.00
412-1000	TACK COAT	TN	1613	\$5.00	\$8,065.00
	CONCRETE F	PAVING	DRIVEWAYS		
441-0016	DRIVEWAY CONCRETE 6 IN THK	SY	775	\$90.00	\$69,750.00
	STO	RM SYST	EM		
550-4218	FLARED END SECTION 18 IN, STORM DRAIN	EA	8	\$1,450.00	\$11,600.00
550-4230	FLARED END SECTION 30 IN, STORM DRAIN	EA	4	\$1,850.00	\$7,400.00
550-4236	FLARED END SECTION 36 IN, STORM DRAIN	EA	2	\$2,500.00	\$5,000.00
550-1180	STORM DRAIN PIPE, 18 IN, H 1-10	LF	196	\$97.00	\$19,012.00
550-1300	STORM DRAIN PIPE, 30 IN, H 1-10	LF	104	\$155.00	\$16,120.00
550-1360	STORM DRAIN PIPE, 36 IN, H 1-10	LF	70	\$165.00	\$11,550.00
550-2180	SIDE DRAIN PIPE, 18 IN, H 1-10	LF	2060	\$68.00	\$140,080.00
550-2240	SIDE DRAIN PIPE, 24 IN, H 1-10	LF	72	\$125.00	\$9,000.00
550-3618	SAFTY END SECTION, 18 IN, SIDE DRAIN, 6:1 SLOPE	EA	114	\$1,160.00	\$132,240.00
550-3624	SAFTY END SECTION, 24 IN, SIDE DRAIN, 6:1 SLOPE	EA	4	\$1,625.00	\$6,500.00
	Gl	JARDRA	IL		
641-1200	GUARDRAIL, TP W	LF	1940	\$22.10	\$42,874.00
641-5001	GUARDRAIL ANCHORAGE, TP1	EA	6	\$1,300.00	\$7,800.00
641-5015	GUARDRAIL TERMINAL, TP 12A, 31 IN, TANGENT, ENERGY ABSORBING	EA	6	\$3,500.00	\$21,000.00
643-4000	WOVEN WIRE FENCE	LF	1000	\$20.00	\$20,000.00
643-1133	CH LK FENCE, ZC COAT, 4 FT, 11 GA	LF	250	\$20.00	\$5,000.00
643-8040	GATE, GALVANIZED METAL – 6- FT	EA	4	\$1,000.00	\$4,000.00

Page 2 of 4

## AUGUSTA ENGINEERING DEPARTMENT MCNUTT RD IMPROVEMENTS 2023

	EROSION	CONTRO	JL I I EIVIZ		
163-0300	CONSTRUCTION EXIT	EA	2	\$2,800.00	\$5,600.00
163-0232	TEMPORARY GRASSING	AC	23	\$915.00	\$21,045.00
700-6910	PERMANENT GRASSING	AC	23	\$1,225.00	\$28,175.00
163-0240	MULCH	TN	138	\$325.00	\$44,850.00
163-0501	CONSTRUCT AND REMOVE SILT CONTROL GATE, TP 1	EA	5	\$1,600.00	\$8,000.00
163-0527	CONSTRUCT AND REMOVE RIP RAP CHECK DAMS, STONE PLAIN RIP RAP/SAND BAGS	EA	235	\$650.00	\$152,750.00
163-0528	CONSTRUCT AND REMOVE FABRIC CHECK DAMS, TYPE C SILT FENCE	EA	107	\$200.00	\$21,400.00
171-0030	TEMPORY SILT FENCE, TYPE C	LF	26444	\$3.55	\$93,876.20
603-2181	STONE DUMPED RIP RAP, TP 3, 18 IN	SY	330	\$136.50	\$45,045.00
165-0030	MAINTENACE OF TEMPORARY SILT FENCE, TYPE C	LF	26444	\$2.10	\$55,532.40
165-0041	MAINTENACE OF CHECK DAMS - ALL TYPES	EA	342	\$65.00	\$22,230.00
165-0085	MAINTENACE OF SILT CONTROL GATE, TP 1	EA	5	\$290.00	\$1,450.00
603-7000	PLASTIC FILER FABRIC	SY	330	\$3.55	\$1,171.50
700-7000	AGRIUCULTUAL LIME	TN	23	\$325.00	\$7,475.00
700-8000	FERTILIZER MIXED GRADE	TN	14	\$810.00	\$11,340.00
711-0100	TURF REINFORCING MATTING, TP	SY	6000	\$4.80	\$28,800.00
	SIGNING AN	D MARK	CING ITEMS		
663-1501	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 IN, WHITE	LF	23582	\$0.45	\$10,611.90
663-1502	THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 IN, YELLOW	LF	23582	\$0.45	\$10,611.90
652-5701	24 IN STOP BAR	LF	72	\$15.00	\$1,080.00
636-1014	HIGHWAY SIGNS,TP 1 MATL, REFL SHEETING, TP 1	SF	153	\$30.00	\$4,590.00
636-2010	GALV STEEL POST, TP1	LF	102	\$16.00	\$1,632.00
636-1033	WY SIGNS, TP 1 MATL, REFL SHT TP. 9	SF	7	\$28.00	\$196.00
652-1036	HWY SIGNS, TP 2 MATL, REFL SHT TP. 11	SF	118	\$32.00	\$3,776.00
		TER MA	IN		
W-1	6" DIA., PVC, C-900, STANDARD PIPE	LF	3000	\$31.00	\$93,000.00
W-2	6" DIA., PVC, C-900, RESTRAINED PIPE	LF	1800	\$35.00	\$63,000.00
W-4A	6" 45 DEGREE BEND, DIP MECHANICAL JOINT	EA	40	\$345.00	\$13,800.00
W-4B	6" 22.5 DEGREE BEND, DIP MECHANICAL JOINT	EA	15	\$325.00	\$4,875.00

Page 3 of 4

## AUGUSTA ENGINEERING DEPARTMENT MCNUTT RD IMPROVEMENTS 2023

		GRA	ND TOTAL		\$5,152,988.90
P-7	DRIVEWAY REPLACEMENT	SY	100	\$66.00	\$6,600.00
M-4	SELECT BACKFILL, GDOT TYPE I, CLASS I & II (SAND/CLAY) – MEASURED IN-PLACE VOLUME	СҮ	500	\$38.00	\$19,000.00
W-17	MISC 3000 PSI CONCRETE	CY	10	\$710.00	\$7,100.00
W-16	WATER MAIN TIE-IN	EA	9	\$3,000.00	\$27,000.00
W-13	1" NEW WATER SERVICE AND RECONNECT EXISTING METER	EA	69	\$2,330.00	\$160,770.00
W-10	6" X 6" TAPPING SLEEVE AND VALVE, INSTALLED	EA	9	\$7,000.00	\$63,000.00
W-4D	6" END CAP, DIP MECHANICAL JOINT	EA	18	\$240.00	\$4,320.00
W-4C	6" 11.25 DEGREE BEND, DIP MECHANICAL JOINT	EA	15	\$325.00	\$4,875.00

#### **GRAND TOTAL (IN WORDS):**

Five Million One Hundred Fifty-Two Thousand Nine Hundred Eighty-Eight Dollars and 90/100 Cents	
	DOLLARS

\*GRADING COMPLETE: Shall include any work without a specific pay item such as: removal and disposal of all miscellaneous roadway items, utility items, and drainage items (i.e., demolition items). Additional items shall be included in the item of grading complete, unless otherwise established as separate contract items, including, but not limited to: removal/demolition of pavement, removal/demolition of concrete sidewalks and driveways / valley gutter, removal of curb and gutter, removal of abandoned drainage structures, removal of street signs, and any other miscellaneous removal items whether shown on the plans or not. The items of grading complete shall also include other miscellaneous items of construction not otherwise shown as a separate pay item such as fine grading, general clearing, cut and fill, constructing shoulder and subgrade, finish grading, construction layout, the hauling and disposal of undesirable or surplus materials, removing and/or resetting mailboxes, removing and/or resetting gates and fences, removing and/or resetting irrigation sprinkler heads, mobilization and demobilization, required bonds and insurance etc. Remove/reconnect water services, reconnect sanitary services, remove/reset signs (type varies), remove/reset water sprinkler systems(complete), remove/reset water valves (size varies), remove/reset yard lamps (type varies) shall be included in grading complete where no separate bid item is established.

\*\*LS (LUMP SUM) — For all Lump Sum items, attach itemized break of lump sum amount on separate sheet

### Breakdown of Grading Complete/Traffic Control

### **McNut Road**

GRADING COMPLETE	1 LS	\$ 1,770,000.00	\$ 1,770,000.00
Mobilization/Gen Conditions Removals and Demo Earthwork Subgrade Prep/Finish and Dress Misc/Closeout	1 LS	\$ 175,000.00	\$ 175,000.00
	1 LS	\$ 250,000.00	\$ 250,000.00
	1 LS	\$ 745,000.00	\$ 745,000.00
	1 LS	\$ 250,000.00	\$ 250,000.00
	1 LS	\$ 350,000.00	\$ 350,000.00
TRAFFIC CONTROL	1 LS	\$ 115,400.00	\$ 115,400.00
Advanced Warning Signs Flagging/Misc Traf Cntrl Temp Striping	1 LS	\$ 25,000.00	\$ 25,000.00
	1 LS	\$ 75,000.00	\$ 75,000.00
	1 LS	\$ 15,400.00	\$ 15,400.00